Resistivity Problems.

1.) If a Nichrome wire (check your notes) had a cross section of 4.25 x 10 –8 m2, and a length of .235 m, what is the resistance?

2.) If an Aluminum bar (resistivity = 2.82 x 10 –8 ohm meters) had a cross section of 1.25 x10-8 m2, and a length of 5.5 m, what is the resistance?

3.) If an unknown metal created 12.5 ohms of resistance, had a cross section of .2889 m2 and a length of 10 m, what is the resistivity?

4.) If a metal had a resistivity of 3.0 x 10-6 ohm meters, a resistance of 5.6 ohms, and a length of 1.47 m, what is the cross section?

5.) If Copper (resistivity = 1.7 x 10-8 ohm meters) had a cross section of 16.25 x 10 –8 and a resistance of .25 ohms, what is the length?

